Strategic Management Accounting | o114

oA
FACULTY OF MANAGEMENT
DEPARTMENT OF BUSINESS MANAGEMENT
FINAL ASSESSMENT
MODULE : STRATEGIC MANAGEMENT ACCOUNTING
CODE : STM 8X10
DATE : 6 JUNE 2016
DURATION : THREE (3) HOURS
TIME : 8h00 to 11h00
VENUE
TOTAL MARKS : 100
EXAMINER(S) : Ms S Bronkhorst
MODERATOR(S) : Ms C Human
NUMBER OF PAGES : 7 Pages
INSTRUCTIONS:

This is a closed-book assessment.

Question papers must be handed in.

Read the questions carefully and answer only what is asked.

Number your answers clearly.

a. Indicate the numbers of the questions on the front cover of your answering book.

b. Answer all the questions {based on the case study) in the examination book provided.

¢. Start every question on a new page.

5. The general University of Johannesburg policies, procedures and rules pertaining to
written assessments apply to this assessment.

6. Table A-1 with the Present Value Interest Factors is attached as Annexure A.
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QUESTION 1

UJ Company is planning (budgeting) a couple of years into the future, estimating growth in
sales revenue, costs, profits and capital expenditure, using pro forma financiat statements.

Their estimated growth figures are based on the “2015” information of their pro forma financial
statements in Table here below.

1.1.  Reconstruct the Pro Forma Financial Statements for 2016 and 2017 after determining
sustainable growth.

Calculate Sustainable growth. (4)

UJ PRC FORMA FINANCIAL STATEMENTS

g=7? g="
I 2015 2016 2017
INCOME STATEMENT l
Sales :‘ 550
Net Income i 250
Dividend 150
Retained Earnings 100
BALANCE SHEET ;
Total Assets | 1000
Equity 550
Debt 450
Total Capital 1 000
(16)

1.2.  Use the information supplied and determine for UJ Company the:

1.2.1. Profitability (2)
1.2.2. Activity (2)
1.2.3. Debt: Equity Relation (2)
1.2.4. Retention (2)
(28)
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QUESTION 2

Information provided from Clicks Ltd audited annual financial statements for the year ended
31 August 2015:

Equity 2 012 807
Debt 5 543 131
Total 7 555 938
Revenue 23 285 096
Total Expenses 21 898 503
EBIT 1 386 593
Interest (10%) (57 309)
Tax (374 709)
Net Income 954 575

You are reguired to calculate:

2.1. RONA (3)
2.2. Leverage (3)
2.3. ROE (3)

(9)
QUESTION 3

The Mulby Company is planning to reduce the selling of mulbies from R60 per unit to R50
per unit. Fixed costs are R900 000 per annum, variable costs are R30 per unit; 50 000
units are made and sold. How many additional units must be sold to make up for the price
reduction? (10)
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QUESTION 4

If a supermarket can reduce inventory days from 55 to 50 days (a cost of sales per day of R54
800) without facing a stock-out on any items calculate the impact on the activity ratio.

Net assets = R 2240000
Sales = R 25 000 000
Current Liabilities = R 2500000
Fixed Assets = R 2000000
(10}
QUESTION 5

Information made available from financial statements of XYZ Ltd are made available to you.

Opening equity 60 000
Opening Debt 40 000
Opening Capital 100 000
Fixed Assets 20 000
Working Capital 80 000
Nett Assets 100 000
Revenue 100 000
Cost of Revenue 55 000
Gross Profit 45 000
Overheads 30 000
EBIT 15 000
Interest 4 800
Profit after interest 10 200
Tax 4 080
Net Income 6120

Cost of Equity = 17.5%
Interest at 12%
Tax at 40%

You are reguired fo calculate the EVA {17)
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QUESTION 6

When shareholders purchase shares they are in effect paying today for the expectation of
future stream cash from the company. The price paid represents the average value placed on
the expected stream by buyers and sellers. In a free and efficient market, the calculated
market value of each share of equity would equal the average view of buyers and seliers of
the value per share, i.e. the share price.

You are required to:

5.1. Complete the Pro Forma Balance Sheet and Income Statement
8.2. Calculate the MVA

when the following assumptions have been made:

Capital is effective from day 1 of year 1, Y1

WACC =14% in Y0, 14% in Y1, 14% in Y2, 16.6% in Y3

1000 shares have been issued

Interest, tax and leverage remain constant
Growth is 10% per annum

Pl S

(26)

Income Statements

YO Y1 Y2 Y3
R R R R

Sales 110 000

CoS 60 500

Gross Profit 49 500

Overheads 22 000

EBIT 27 500

Interest 8 800

PBT 18 700

Tax 7 480

Net Income 11 220

Taxed Interest 5280

NOPAT 16 500

Dividends 5220

Retained Earnings 6 000
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Balance Sheets

Equiity
Loans
Capital
Fixed Ass
Work Cap

Net Assets
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Y0 Y1
R R
60 000

40 000

100 000

60 000

40 000

100 000
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Annexure A

Table A-1
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